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(AyyAIka)

ANSWER 1:

(a) (1) Accruals concept matches the revenue earned (Realisation concept) with the
expenses incurred (matching concept) of the same accounting period in order to
calculate the correct profit for the same accounting period

Example: adjustments for accruals and prepayments, allowances for depreciation and
irrecoverable debts. Any reasonable example

(i) When preparing the financial statements it is assumed that the business will continue
its operations in the foreseeable future, if not the assets of the business should be
that worth to a buyer in a case of a forced sale.

Example: The assets of a business are stated at cost and no provisions are made for
any liabilities that could be arisen in the case of possible breach of contracts in the
case of closing down. Any reasonable example

(b) (i) Materiality concept
(i) Consistency concept

(5 marks)

ANSWER 2:

(i) According to the business entity concept the personal transactions of the owners are
not recorded in the business books, therefore the private petrol oil payment is
considered to be drawings and should be recorded so.

(i) The partnership profits are understated
(iii) Dr Drawings X

Cr Motor vehicle expenses X

(5 marks)



ANSWER 3:

(a) List of main characteristics of:

Ordinary shares 6% preference shares
1. Fluctuated rate of dividend 1. Fixed rate of dividend
2. Voting right 2. No voting right
3. High risk 3. Priority (in dividend payment

and of capital repayment in case
of dissolution)

(b) Journal entry

DR Investment € 200.000
CR Bank €200.000
(5 marks)
ANSWER 4:

0] Correct Answer is D , because by including the Bank Overdraft of €3.691
on the debit side the debit side is overstated by €7.382 (2x3.691)

(i) A. is wrong because the prepaid expense should be on the debit side. So
the credit side should be overstated.

B. The trial balance totals are not affected because the double entry was
completed, even though the amount was posted in a wrong a/c.

C. This is an error of omission which does not affect the trial balance
agreement.

(5 marks)



ANSWER 5:

Working-optional

Telephone expense a/c

2017

Bank 100 2017 Profit or Loss ledger 520
Feb 1 Oct31 |alc
May 1 | Bank 120
Aug 1 Bank 150
Oct 31 | Balance c/d 150
520 520
Nov 1 Balance b/d 150

Correct Answer is C.

€520 in the Income statement with an accrual of €150 in the statement of financial

position
(5 marks)
ANSWER 6:
Fixtures and fittings
Balance b/d 480.000 | Disposal 164.000
Bank 284.000 | Balance c/d 600.000
764.000 764.000
Accumulated Depn -Fixtures and fittings
Disposal 104.400 | Balance b/d 218.000
Balance c/d 180.000 | P&l ledger a/c- I.S 66.400
284.400 284.400




Disposal

Fixtures and fittings 164.000 | Accumulated Depn 104.400
P&l ledger a/c —1.S 118.400 | Bank 178.000
283.200 283.200
(5 marks)
QUESTION 7:
Calculation of the final Cash book balance as at 31 December 2016
Balance as per bank statement (1.019)
2. Less: unpresented cheques (2.467)
4. Add: Lodgments not credit by the bank 4.986
Balance as per Cash Book 1.500
(5 marks)

(TOTAL MARKS 35)



(EAANVIKA)

ANSWER 1:

(ii)

(@) (i) Apxn dedouleupévwy: Eival n ouoxETIONG Twv €000WV TTOU £xel KEPDIOEI N

emyeipnon (ApXN TNG TTPAYHATOTIOINONG) AveEapTNTa AV £XEI YiVEl N €i0TTPACN
N ox1, padi ye Ta  €€oda g 16iag TepIGdou (Apxn TNS ouoxérions - Matching
concept) TTou TTpaAyuaToTToINONKAV yia TNV TTapaywyr Twv 000wV, aveeaptnta
atro 10 av £xouv TTANpwoOEi A 6xI.

Emouévwg, oupgwva Pe auth TNV apxn yia va utroAoyioTei To 0pB6 KEpSOC, Ta
0edoUAcUuéva €000 TNG XPOVIAG TTPETTEI VA OUYKPIBOUV PE OAa Ta Oe00UAsUuéva
£60da TG idlag AoyIoTIKAG XPOVIAG.

Mapddelypa cQaphoyAg TG aApXNG QUTAG E€ival N TOKTOTTOINON TWV
TTPOTTANPWHEVWV 1] OPEINOUEVWYV £000WV A £O0WV, N TTPORAEWN YIa ETTICQAAAG
XPEWOTEC KAl ATTOORETEIG

ApXN SpWOCaG OIKOVOMUIKAG Hovadag:

H TTpogToIaCia TWV OIKOVOUIKWY KaTaoTAoewy yiveTal atn BAon TG uttdBeong OTI
Ol OIKOVOIKEG OPAOTNPIOTNTEG TNG ETTIXEIPNONG Ba OUVEXIOTOUV KAl OTA ETTOUEVA
Xpovia (UETA TOUAd)IOTOV a1TO SWOEKA UNVEG).

2TNV TIEPITITWON TTOU MIa €TTixeipnon &gv utropei va BewpnBei going concern,
€TTEION AVTIMETWTTICEI coBapd oIKOVOUIKG TTpoBARPaTa, A o1 IBI0KTATES TNG BEAOUV
va Tn OlaAUcouv TOTE, TA OTOIXEID TOU MN KUKAOQOPIAKOU €vEPYNTIKOU YidA
TTapddelyua, Ba TTPETTEl va TTAPOUCIacToUV oTnv aia TTou Ba utropoucav va
TTwANBoUV o€ avaykaoTikr) TTwAnon (forced sale) éTTwg, TTAIOTNPIAOUS KAl VA YiVEl
TTPORAEYN yia TuXOV UTTOXPEWOEIG TTOU Ba pTTopoucav va  TTPOKUWYWOUV aTTo
evoexopevn Trapapiaocn cupBaoewy ) o€ TTEPITITWON KAEICIMATOG TNG £TTIXEIPNONG.

b (i) Apxn TNG ONHAVTIKOTNTAG
(i)  ApXA TNG OUVETTEIOG

(5 povadeg)

ANSWER 2:

() Zupewva Pe TNV apxn TNG ETTIXEIPNUATIKIAG OVTOTATAG O CUVAAAQYEG TTOU OXETICoVTal
ME TOUG IBIOKTATEG OEV TTPETTEI VA KaTaypdagovTal oTa BiAia Tng emmixeipnong . Q¢ ek
TOUTOU, N IDIWTIKY TTANPWWI TTETPEAAioU BewpeiTal wg avaAnyn kai Ba TTPETTEl va
Kataypa@ei oav T€Tola oTa BIBAia TNG IXEipNnONG.

6



(i) The partnership profits are understated

(iif) Dr Drawings X

Cr Motor vehicle expenses

ANSWER 3:

(@)

(5 povadeg)

XapaKTNPIOTIKA KOIVWYV HETOXWYV

XapaKTNPICTIKA TTPOVOOIOUX WV
METOXWV

1. To TTO000TO TOU PEPIOUATOG
MTTOPEl Va aAAACel attd xpdvo o€
XPOVOo avaloya Pe Ta KEPON

1. To TTOC0OO0TO TOU YEPIOUATOC Eival
o1aBepd Kal dev aANGlel atrd Xpodvo
o€ Xpovo

2. Exouv dikaiwpa yrigou

2.Agv £xouv dIKAiWUa Yrneou

3.01 yétoyol gival avTINETWTTOI JE
WNAOTEPO Kivouvo (risk)

3. Exouv TTpoTepaIdTnNTa (OTN
TTANPWUN YEPICPATOG KAl
ATTOTTANPWHNG O€ TTEPITITWON
€KKaBApIoNG)

(b) HuepoAoyiakn eyypaen

DR Investment € 200.000
CR Bank €200.000
(5 povadeg)
ANSWER 4:
® H opBn atravinon civai n D agou AavBacpéva 1o TTapatpdpnypa

(i1)

TpaTTECaG €3.691 £x€I CUPTTEPIANPOET OTN XPEWON KAl oAV ATTOTEAEOUA N
XPEWOTIKNA TTAEUPA gival auénuévn KaTd €7.382 (2x3.691)

A. H atrdvrnon gival A\avBaopévn €1e1dr) 1a TpotrAnpwuéva €¢oda Ba
ETTPETTE VA gixav oudTTEPIANYOEI 0TN Xpéwon. AuTO Ba cixe oav
atroTéAEOUa N TTAEUPA TNG TTIOTWONG VA gival augnuévn.



B. To 100CUy10 dev eTTnpeAeTal €TTEION, TTAPOAO TTOU N EYYPAPH] EXEI

KataxwpnOei og AdBog Aoyaplacuo £yive xpeoTtioTwaon e To idlo TTo00

C. Eivai AaBog mrapaleipewg dnAadn mAfpng mapdAsiwn otnv Kartaxwpenon
TNG OUVOAAQYNAG KAl oav ATTOTEAEOUA TO 1I00CUYIO OEV £TTNPEALETAI

ANSWER 5:

(5 povadeg)

Working-optional

Telephone expense a/c

2017

Bank

100 2017 Profit or Loss ledger 520
Feb 1 Oct31 |alc
May 1 Bank 120
Aug 1 Bank 150
Oct 31 | Balance c/d 150
520 520
Nov 1 Balance b/d 150

Correct Answer is C.

€520 in the Income statement with an accrual of €150 in the statement of financial

position
(5 marks)
ANSWER 6:
Fixtures and fittings
Balance b/d 480.000 | Disposal 164.000
Bank 284.000 | Balance c/d 600.000
764.000 764.000




Accumulated Depn -Fixtures and fittings

Disposal 104.400 | Balance b/d 218.000
Balance c/d 180.000 | P&l ledger a/c- I.S 66.400
284.400 284.400
Disposal
Fixtures and fittings 164.000 | Accumulated Depn 104.400
P&l ledger a/c —1.S 118.400 | Bank 178.000
283.200 283.200
(5 marks)
QUESTION 7:

Calculation of the final Cash book balance as at 31 December 2016

Balance as per bank statement (1.019)
2. Less: unpresented cheques (2.467)
4. Add: Lodgments not credit by the bank 4.986
Balance as per Cash Book 1.500

(5 marks)
(TOTAL MARKS 35)



